Theme 1 – PPF Curve

Production Possibility Frontier – Sheet 2
Capital Goods








Consumer Goods

Plot and label the following scenarios on your diagram above:
· A) All resources devoted to production of capital goods.
· B) All resources devoted to production of consumer goods.
· C) The economy has unemployed resources
· D) The economy is working at maximum capacity
· E) There is a 50-50 proportion of resources devoted to the production of capital/consumer goods but only 50% of resources within the economy are being employed.
· F) Scenario which is currently not possible to achieve
· G) Economic growth occurs.
How does the PPF curve demonstrate that an opportunity cost is occurring?


Why is the PPF curved and not a straight line?



[bookmark: _GoBack]As previously mentioned, economic models are simplified representations of the real world, so what are the limitations of the PPF curve?
a) In terms of representing any service industry.



b) Any other criticisms that you can think of?
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The diagrams show movements from position X to Y on production passibility
frontiers. In which of the above diagrams does the movement from X to Y illustrate

economic growth?

poss

Tofs| A v | x| *

=

31/08/2014




image5.png
)/ B Electronics, Cars Fash x s Unit 1 Markets and W x @ CHVRCHES: The Bon: x % Specialiation and trac x " ALevel Economics | 4 %/ ' www.cdexcel.com/m x

C # | [) www.edexcel.com/migrationdocuments/QP%20GCE%20Curriculum%202000/June%202009/6ECO1_01_que_20090603.pdf B - =
1 Output of production 05| A | v | x [
tourist services
X
0

Y z Output of agricultural goods

The diagram refers to a small Caribbean island producing agricultural goods and
tourist services. Initially the economy has production possibilities shown by XY. The
production possibility line then moves to XZ. This change is most likely to have been
caused by:

A Anincrease in the demand for agricultural goods

B Arise in the cost of producing agricultural goods in terms of tourist services

€ A decrease in the demand for agricultural goods

D Technological improvements in the agricultural industry

Answer

Explanation
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Extract One The case for increasing tuition fees in higher education

University can give you a great start in life. You are more likely to be employed. You will
earn, on average, well over £160,000 more over a lifetime than non-graduates with

‘A Levels, and 96% of students agree it is a worthwhile experience. Increased government
investment in higher education means many more students now attend university than
ten years ago. The UK has two universities ranked in the world's Top 10 for academic
research and twenty-nine in the Top 200, according to the Times Higher Education survey.
However, the US is in a league of its own, dominating research.

The expansion of higher education involves an opportunity cost to both the government
and students. The UK government has increased its university tuition funding to £4,300
per student and also raised the student contribution from £1,175 to £3,000 per year. This
means universities receive £7,300 in tuition fees for each student. But this figure is still
well below the £11,500 average per student that American universities receive.

UK students do not have to finance tuition fees before or during the course since they
can take out a loan at a rate of interest equal to the rate of inflation. Repayments only
begin once they have finished studying, and are earning over £15,000 a year. For those
from low-income families, there are grants worth up to £2,700 per year. Higher education
can help reduce inequality.

Further increases in student contributions to tuition fees do more good than harm. It will
eencourage students to take their studies more seriously, and universities will be able to
improve quality, innovation and choice in their education provision.

(Source: Adapted from Route to a secure future’ by Bill Rammell, The Guardian, 4th September 2006 and
“The greater good is not served by market forces; Roger Brown, The Guardian, 11th December 2007.)
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Extract Two The case against increasing tuition fees in higher education

The increase in tuition fees from £1,175 in 2005 to £3,000 in 2006 caused a 3% drop in
applications for higher education. The huge rise in fees discouraged some young people,
especially from low income families. It also undermined the government target of
achieving 50% of young people in higher education by 2010.

According to a survey of university vice-chancellors, the student contribution to tuition
fees will have to rise to £6,000 a year or more by 2010. Annual tuition fees are capped

at £3,000 until then. The cost to the government of subsidising student loans and
writing off unpaid debts has risen to nearly £1 billion a year. A highly qualified graduate
workforce attracts more investment and generates more production and tax revenue for
the economy. In this way, graduates already pay for their higher education.

(Source: Adapted from ‘Fees trigger drop in university applications, by Donald Macleod,
The Guardian, 10th February 2006)
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(a) Using examples, explain what is meant by ‘the expansion of higher education
involves an opportunity cost to both the government and students’. (Extract 1,
lines 8 and 9).

(b) Examine the likely impact on the production possibility frontier for the economy
of ‘increased government investment in higher education’ (Extract 1, lines 3 and 4).
Illustrate your answer with an appropriate diagram.
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Question | Answer Mark
Number
5@) Knowledge, application and analysis (up to 7

marks)

« Definition of opportunity cost or implied
understanding (the value of the next best
alternative foregone) (1 mark).

« Development of opportunity cost e.g. limited
resources / scarcity (1 mark)

« Government contribution per student to tuition
fees is £4,300 per year; the next best alternative
for government could be: lower taxes / more
funds available for other areas of spending such
as primary education or healthcare / possible
decrease in government borrowing. (Up to 3
marks).

« Student contribution to tuition fee alone is up to
£3,000 per year; the next best alternative for
students could be: not going into debt / spending
the tuition fee money on something else /
getting a job and earning income instead of
studying / increased leisure time. (Up to 3
marks).

Also award:
> Diagrammatic analysis or opportunity cost on a
production possibility frontier (2 marks)
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Question [ Answer. Mark
Number
9(b) Knowledge, application and analysis (up to 5

marks)

« Definition of ‘production possibilities’ (the
‘maximum output an economy can achieve when
all its resources are fully / efficiently employed)
(1 mark).

« Understanding of an increase in output /
education is a capital or investment good / leads
to higher skills / or productivity of workforce /
the economy could become more competitive.
(Up to 3 marks).

« Diagram showing outward shift in _production
possibilities (1 mark) plus relevant labelling (1
mark). For example: capital / consumer goods,
or, reference to education / economy

« Note: if no diagram, award a maximum of 3
‘marks in this section.

Evaluation (up to 3 marks for one evaluation point
well developed, or 2+1)
> Magnitude of the expansion of higher education.

> Types of expansion in higher education. Is it
vocational or science based?
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» Little impact in short-run and it could take many
years before any outward shift in production
possibilities.

(8)

» Impact may not be that significant if other
economies invest even more in higher education
than the UK.

» Where did government obtain funds for higher
education expansion - was it from cutting
investment elsewhere or did taxes have to
increase? Award for an understanding of a
current sacrifice.
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Section A: Answer all the questions in this section

You should spend 35 minutes on this section. Use the data to support your answers where
relevant. You may annotate and include diagrams in your answers.

1 A production possibility ffGhtief can be used to illustrate the concept of:
m
External cost

Producer surplus

Opportunity cost

onw>»

Equilibrium price.

Answer

Explanation
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The diagram shows a production possibility Ffofitief for an economy operating at
point X. The opportunity cost of producing 75 units of consumer goods is:

A 25 units of consumer goods

B 30 units of capital goods

€ 60 units of capital goods

D 75 units of consumer goods.

Answer

Explanation





image3.png
)/ B Electronics, Cars, Fashion, x s Unit 1 Markets and Why t! x (8 CHVRCHES: The Bones of x { % Specialisation and trade X { """ ALevel Economics | ALer X - www.edexcelcomymigra: x \__\II e O A
C A | [ www.edexcel com/migrationdocuments/QP%20GCE%20Curriculum%202000/January%202012%20-%20QP/6ECO1_01_que_20120307 pdf B - =

Section A: Answer all the questions in this section

You should spend 35 minutes on this section. Use the data to support your answers where
relevant. You may annotate and include diagrams in your answers.

Capital
goods

0 ‘Consumer
goods

The diagram shows a production possibility frontier for an economy. Which of the
following is true?

A Thereis full employment of resources at W.
B Economic growth i likely to be higher at X than Y.
€ Zis currently unattainable.

D There is a constant rate of opportunity cost between X and Y.

Answer





